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MONTHS SUM OF MALE 

AND FEMALE

MALE:FEMALE

JAN 756 3:4

FEB 1092 6:7

MARCH 1056 4:7

APRIL 992 5:3

MAY 1440 11:9

The table given below shows the total number of male and female visitors in 

different months and the ratio between them is also given.

नीचे दी गई तालिका लिलिन्न महीनों में परुुष और मलहिा आगंतकुों की कुि संख्या को दर्ााती ह ै

और उनके बीच का अनपुात िी लदया गया ह।ै
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Question 1- Find the ratio between the male in Jan and female   Feb.

प्रश्न 1- जनिरी, फरिरी में परुुष और मलहिा के बीच का अनपुात ज्ञात कीलज ।

A. 27:49

B. 27:41

C. 27:17

D. 17:49

E. None of these

MONTHS SUM OF MALE 

AND FEMALE

MALE:FEMAL

E

JAN 756 3:4

FEB 1092 6:7

MARCH 1056 4:7

APRIL 992 5:3

MAY 1440 11:9
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Question 2- The number of female in may is what percent of number of female 

in Jan.

प्रश्न 2- मई में मलहिाओ ंकी संख्या जनिरी में मलहिाओ ंकी संख्या का लकतना प्रलतर्त ह?ै

A. 120%

B. 150%

C. 160%

D. 220%

E. None of these

MONTHS SUM OF MALE 

AND FEMALE

MALE:FEMAL

E

JAN 756 3:4

FEB 1092 6:7

MARCH 1056 4:7

APRIL 992 5:3

MAY 1440 11:9
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Question 3- The sum of male in jan and march is 59 y then find value of 

(𝑦 + 4)
1

4

प्रश्न 3- जनिरी और माचा में परुुषों का योग 59 y ह,ै तो (𝑦 + 4)
1

4 मान ज्ञात कीलजये?

A. 1

B. 2

C. 16

D. 4

E. None of these

MONTHS SUM OF MALE 

AND FEMALE

MALE:FEMAL

E

JAN 756 3:4

FEB 1092 6:7

MARCH 1056 4:7

APRIL 992 5:3

MAY 1440 11:9
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Question 4- If the number of male from April, may and June are increasing in 

arithmetic progression then find number of female in June if ratio of male and 

female in June is 4:3.

प्रश्न 4- यलद अंकगलितीय प्रगलत में अपै्रि, मई और जनू में परुुषों की संख्या बढ़ रही ह,ै तो जनू में 

मलहिाओ ंकी संख्या ज्ञात कीलजये यलद जनू में परुुष और मलहिा का अनपुात 3: 1 ह।ै

A. 713

B. 719

C. 723

D. 716

E. None of these

MONTHS SUM OF MALE 

AND FEMALE

MALE:FEMAL

E

JAN 756 3:4

FEB 1092 6:7

MARCH 1056 4:7

APRIL 992 5:3

MAY 1440 11:9
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Question 5- If cost of an article is Rs 8,000 and the profit percent is equal to 

the half of the numerical value of difference between male and female in feb.

Then find selling price of article.

प्रश्न 5- यलद लकसी िस्त ुकी िागत 8,000 रुपये ह ैऔर िाि प्रलतर्त फरिरी में परुुष और मलहिा 

के बीच अंतर के संख्यात्मक मलू्य के आध ेके बराबर ह।ै तो िस्त ुका लिरय य मलू्य ज्ञात कीलजये।

A. Rs 12160

B. Rs 11330

C. Rs 11360

D. Rs 11120

E. None of these

MONTHS SUM OF MALE 

AND FEMALE

MALE:FEMAL

E

JAN 756 3:4

FEB 1092 6:7

MARCH 1056 4:7

APRIL 992 5:3

MAY 1440 11:9
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Question 5- Rs 2y+400 is divided among P, Q and R in ratio 4:5:8. If R gets 

Rs 312 more than Q then find value of y.

प्रश्न 5- 2y+400 रुपये को P, Q और R के बीच 4:5:8 के अनपुात में लििालजत लकया गया ह।ै 

यलद R को Q से 312 रुपये अलधक लमिते हैं, तो y का मान ज्ञात कीलजये।

A. Rs 664

B. Rs 764

C. Rs 884

D. Rs 684

E. None of these
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Question 6- P and Q started a business by investing capital in rati0 4:7. A is 

active partner so he gets 45% of the total profit and the remaining profit will 

be distributed according to there capital investment. At the end of year the 

difference between there profit is Rs 2880 then find total profit.

प्रश्न 6- P और Q ने rati0 4:7 में पूंजी लनिेर् करके  क व्यिसाय र्रुू लकया। A सलरय य िागीदार 

ह ैइसलि  उसे कुि िाि का 45% प्राप्त होता ह ैऔर र्ेष िाि को पूजंी लनिेर् के अनसुार 

लितररत लकया जा गा। िषा के अंत में िाि के बीच का अंतर 2880 रुपये ह,ै तो कुि िाि ज्ञात 

कीलजये। A. Rs 8600

B. Rs 7600

C. Rs 9600

D. Rs 6600

E. None of these
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Question 7- A car covers 32% of his journey with speed 80 km/hr, next 280 

km with speed 70 km/hr and rest 400 km with z km/hr. If the average speed of 

journey is 100 km/hr then find value of z.

 क कार अपनी यात्रा का 32% िाग 80 लकमी/घंटा की गलत स,े अगिी 280 लकमी की गलत 70 

लकमी/घंटा की गलत से और र्ेष 400 लकमी z लकमी/घंटा की गलत से तय करती ह।ै यलद यात्रा की 

औसत गलत 100 लकमी/घंटा ह,ै तो z का मान ज्ञात कीलजये।

A. 120 km/hr

B. 140 km/hr

C. 90 km/hr

D. 200 km/hr

E. None of these
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Question 8- The difference between compound interest and simple interest on 

a sum of Rs y at 45% per annum is Rs 8100. Find  the value of y% of 25.

प्रश्न 8- 45% प्रलत िषा की दर से y रालर् पर चरय िलृि ब्याज और साधारि ब्याज के बीच का 

अंतर 8100 रुपये ह।ै 25 के y% का मान ज्ञात कीलजये।

A. Rs 20,000

B. Rs 12,000

C. Rs 10,000

D. Rs 15,000

E. None of these
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Question 9- A person sells an article at 28% profit for Rs 6400. If he bought it 

at 10% less and sold at Rs 400 less then find his profit percentage.

प्रश्न 9-  क व्यलि  क िस्त ुको 28% िाि पर 6400 रुपये में बेचता ह।ै यलद उसने इसे 10% 

कम पर खरीदा और 400 रुपये कम पर बेचा तो उसका िाि प्रलतर्त ज्ञात कीलजये।

A. 22.22%

B. 44.44%

C. 33.33%

D. 12.55%

E. None of these
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Question 10-

(i) p2 – 27p + 180 = 0

(ii) q2 - 33q + 270 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation can’t 
be established,
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Question 11-

(i) p2 – 25p + 136 = 0

(ii) q2 + 3q - 54 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation can’t 
be established,
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Question 12-

(i) p2 – 20p + 64 = 0

(ii) q2 - 27q + 110 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation can’t 
be established,
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Question 13-

(i) q2 + 396  = 40y

(ii) p2 - 23q + 112 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation can’t 
be established,
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Question 14- What value will come in place of question mark.

प्रश्न 14- प्रश्न लचह्न के स्थान पर मान क्या आ गा?

32% of 900 + 255 − 30 𝑜𝑓 16 = ?

A. 428

B. 228

C. 528

D. 446

E. None of these
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Question 15- The income of P is 100% more than expenditure of Q. 

Expenditure of P is 50% less than income of Q. If the saving of P and Q is Rs 

9000 and Rs 8000 respectively then find income of P.

प्रश्न 15- P की आय Q के व्यय से 100% अलधक ह।ै P का व्यय Q की आय से 50% कम ह।ै 

यलद P और Q की बचत रय मर्ः 9000 रुपये और 8000 रुपये ह,ै तो P की आय ज्ञात कीलजये।

A. Rs 6000

B. Rs 5000

C. Rs 4500

D. Rs 6500

E. None of these
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